Atomic Structure Practice
1.  Answer each question below:


a.Which subatomic particles are charged?


b.  Describe the structure of a typical atom.  Identify where each subatomic particle is located.


c.  Which subatomic particle identifies an atom as that of a particular element?  How is this particle related to the atom’s atomic 
                      number?


d.  Which subatomic particles account for most of an atom’s mass?

2.  Complete the table for the following elements.  Assume all atoms are neutral.  (In a neutral atoms protons equals electrons)
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3.  Given the following isotope notation, find the following:



Mass Number:_____



Number of Protons: _____



Number of Electrons: _____



Number of Neutrons: _____
4. Complete the following table which contains ions and isotopes:
	Isotope
	Atomic #
	Mass #
	# protons
	# neutrons
	# electrons

	3517Cl-1
	
	
	
	
	

	6530Zn+2
	
	
	
	
	

	Ca+2
	
	
	
	20
	


5.  Complete the following table which contains ions and isotopes.  If no charge is listed in the superscript position, assume the atom is neutral.
	Isotope
	Atomic number
	Mass number
	# of protons
	# of neutrons
	# of electrons



	32S
	
	
	
	
	

	N-3

	
	15
	
	
	

	Zn


	
	
	
	35
	

	Uraninum-238


	
	
	
	
	

	19F-1


	
	
	
	
	

	Na+1


	
	23
	
	
	


6.  Solve the following average atomic mass problems.
a.  Rubidium has two common isotopes, 85Rb and 87Rb. If the abundance of 85Rb is 72.2% and the abundance of 87Rb is 27.8%, what is the average atomic mass of rubidium?

b. Uranium has three common isotopes. If the abundance of 234U is 0.01%, the abundance of 235U is 0.71%, and the abundance of 238U is 99.28%, what is the average atomic mass of uranium?

c Titanium has five common isotopes: 46Ti (8.0%), 47Ti (7.8%), 48Ti (73.4%), 49Ti (5.5%), 50Ti (5.3%). What is the average atomic mass of titanium?
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